| Efficiency vs Dxy |
>.0.02r
<

13
-
>
-

o
O
TTT T[T TTT]

0 Z15 210 =6 0 5 10 15 20
TP dxy (cm)

—=— DQM _original_step?2_ttbar-phasel-newgeom
| Efficiency vs Dz | —e— DQM_pixelCPE_step2_tthar-phasel-newgeom

—— DQM_pixelCPEChi20R2_step2_ttbar-phasel-newgeom
N 0.05 . : ; ;

045
% e R

L |
O r : : : . .
$9.035 A I Frorreneenes frorereees 2
o - 5 5 5 g
O
e e s

0.02f oo --------
0,015+ f iy -+++-*-;+-+--#H

0.01F- It |

0.005F-++--wwsbvooe-f

10F
E : Eﬁ . x
1.05E-emeo- oo ATH-HHHH AT

Ratio

0.95

10 2030
TP dz (cm)



	Contents
	Page 1


